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Questions

A bag contains 7 whit, 5 black and 4 rd balls. If two balls are drawn at random from the bag,
the probability that they are not of the same color is

Question Image

Question Image

Question Image

Question Image

An integer is chosen at random from the number ranging from 1 to 50. the probability that
the integer chosen is a multiple of 2 or 3 or 10 is

Eight chairs are numbered 1 to 8. Two women and three men wish to occupy one chair
each. First, the women choose the chairs from amongst the chairs marked 1 to 4 and then
the men select the chairs from amongst the remaining. The number of possible
arrangement is

There are n seats round a table numbered 1, 2, 3 .... n. The number of ways in which m
person can take seats is

Fifteen girls compete in a race. The first three places can be taken by them in

The number of ways of arranging the letter AAAAA BBB CCC D EE F in a row when no two
C's are together is

Number of permutations of n distinct objects taken r(<n - 3) at a time which exclude 3(<n)
particular objects is

The number of significant numbers which can be formed by using any number of the digits
0, 1, 2, 3, 4 but using each not more than once in each number is

All letters of the word "AGAIN" are permuted in all possible ways and the words so formed
(with or without meaning) are written as in dictionary, then the 50th word is

If 4 6Pr= 6Pr+1, then r is equal to

Riaz, Saba. Maria, Shehzad are to give speeches in a class. The teacher can arrange the
order of their presentation in

Answers Choice

.73/120
.83/120
.67/120
.43/120

.1/2
.113
.1/4
. None of these

oOow>» OOw>P

5
2

w0 =

: None of these

. 0.9
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D.9/10

WP OOwWP TOOwXP

A. <sup>6</sup>C<sub>3</sub>x
<sup>4</sup>C<sub>2</sub>

B. <sup>4</sup>C<sub>2</sub>x
<sup>4</sup>P<sub>3</sub>

C. <sup>4</sup>P<sub>2</sub>x
<sup>6</sup>P<sub>3</sub>

D. None of these

A. <sup>n</sup>P<sub>m</sub>

B. <sup>n</sup>C<sub>m</sub>x (m
-1)!

C. <sup>n-1</sup>P<sub>m</sub>
D. None of these

. 3! ways

. 12! ways

.15 x14 x 13 ways
. 42 ways
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.3 P(n, r-3)
.P(n, 3) P(n, r-3)
. P(r,r)P(n, r - 3)
P(n-3,r)
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260
356
410
96
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IAANG
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The value of n, when "Po= 20 is

In a class of 100 students, 60 drink tea, 50 drink coffee and 30 drink both. A student from
his class is selected at takes at last one of 2 drinks is

There are 25 tickets bearing number from 1 to 25. One ticket is drawn at random. The
probability that the number on it is a multiple of 5 or 6 is

Three dice are thrown together. The probability of getting a total of at least 6 is

Two cards are drawn at random from a well shuffled pack of cards. The probability that at
least one of them is a face card is

Two unbiased dice are thrown. The probability that the total score is > 5 is

5 unbiased coins coins are tossed simultaneously. The probability of getting at least one
head is

Four cards are drawn at random from a pack of 52 playing cards. The probability of getting
all the four cars of the same suit is

Six boys and 3 girls are to be seated at random, in a row, for a photograph. The probability
that no two girls will sit together is

Form a group of 5 men and 3 women, a committee of 4 persons is to be selected randomly.
The probability that there is a majority of men is

A bag contains 3 white, 4 black and 2 red balls. If 2 balls are drawn at random, then the
probability that both the ball are white is

A card is drawn from a pack of cards numbered 1 to 52, the probability that the number on
the card is a perfect square is

A coin is tossed. If head comes up, a die is thrown but if tail comes up, the coin is tossed
again. The probability of obtaining a head and an even number is

An unbiased die is thrown. Then the probability of getting a prime is

Three unbiased coins are tossed. Then the probabilities of getting two heads is
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. 24 ways
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.2/5
3/5

. None of these
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11/25

. None of these

10/216
93/108
None of these

3/17
5/17

9/17

1/18
7/18

11/18
1/32
1/16
None of these

. 22/4165
11/4165
None of these
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1/4
13

1/6
118

1/36
. None of these

113
2/13

. None of these

1/8
2/8

. None of these

2/3
. 3/4
. None of these

. 1/8
. 1/4
. None of these



